
1

2

3

4

5

6

7 8

912

10

21

20

13

11

14

11

14

15

2223

27
28

33

34
35

11

25 40

36 37 11 22 38

39

4142

34

34

35

28

39

40

4025

25

26

23

24
2425

37

36

37
11

25

37

36

38

39
37

40

25

24

25

25

28

29

35

30 31

32

33

27

11

22

16 17

10

20

18

19
23

22

34

35

1

22

33

2

NO. Parts NO. Description
01 006I9004D 16mm Pin - ∅15.8X91.5-M8

004A903501K 9035 Head - With helicoil
007MT01 Helicoil - M10X1.5X10
007MT07 Helicoil - M10X1.5X7

03 004A903502P Brake - 9035B
04 007SJ01D Set screw - M10X12
05 007DI15D Washer - ∅8.4X∅16X1.5
06 006I9003D T bar - M8X27
07 006I9002D T bar - M10X20
08 004A1036G01K Knob - M10X36 With kupo logo
09 008R54201 O ring - ∅5X∅45

004A354002K Riser - 3540 With helicoil
007MT01 Helicoil - M10X1.5X10

11 004A1028G01K Knob - M10X28 With kupo logo
12 003IY3504K Tube1 - ∅35X1.5X1038
13 003IY4004K Tube2 - ∅40X1.5X1053
14 007SJ05D Set screw - M10X16
15 003IY4513K Main tube - ∅45X1.5X1057
16 004A3540U01D Brake - 3540U
17 004A3540D01Q Brake - 3540D
18 004A4045U01D Brake - 4045U
19 004A4045D01P Brake - 4045D

004A404502K Riser - 4045 With helicoil
007MT01 Helicoil - M10X1.5X10

21 008R22601 O ring - ∅5.7X∅50
22 004A54203D Brake - 45B

004A54201K Upper spider - With helicoil
007MT01 Helicoil - M10X1.5X10

24 006A54201Y Sleeve - ∅6.2X∅10X15.2
25 007MF6A03D Lock nut - M6X10X6
26 007S6A05D Hex bolt - M6X80X18
27 007S6A01D Hex bolt - M6X50X18
28 003IF2501K Short tube - □25X25X1.5X53
29 003IF2101K Levelling tube - □21.5X21.5X2X375
30 006I31001DW Slider - □15X15X30-M10X12.5
31 007DI17D Washer - ∅10.4X∅25X2.0
32 007SJ07DW Set screw - M10X35
33 004A1017M01K Knob - M10 - Female With kupo logo
34 003IF2504K Long foot tube - □25X25X1.5X915
35 003IF2505K Short foot tube - □25X25X1.5X862
36 007SM01D Carriage bolt - M6X22
37 007DI02D Washer - ∅6.4X∅13X1.0

004A54202K Lower spider - With helicoil
007MT01 Helicoil - M10X1.5X10

39 00254202Y Stripe - 5X19X360
40 007S6A06D Hex bolt - M6X47X18
41 008P54202 Pad - 13.2X16X6.8
42 008P54201 Foot pad - 25X25X30.4

02

10

20

23

38


